Apartment in Xghajra



Reference No: 240061162-130

Xghajra, South



€340,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m²): **89**

Bedrooms: 3

Apartment - For Sale - Xghajra

XGHAJRA – SEA FRONT FIRST FLOOR APARTMENT – Located in a prime location within a block of only 4 Units. This apartment consists of a Kitchen/Dining, Living Room, 1 Double Bedroom, 2 Single Bedrooms, Main Bathroom, Front Balcony with open Sea Views, Back Balcony, 2 Internal Yards and part ownership of roof. This charming apartment is being offered furnished and ready to move into. Freehold. For more information or to schedule an on-site viewing, kindly contact one of our Re/Max Agents now.

Features

- Kitchen/Dinette
- Air Space

Electricity Utility

Rooms

✓ Kitchen/Dining: 4.22 x 3.6 m (15.19 m2)

Living: 3.55 x 3.65 m (12.96 m2)

Double Bedroom : 3.6 x 3.3 m (11.88 m2)

Double Bedroom: 3.3 x 2.3 m (7.59 m2)

Double Bedroom : 3.9 x 3.3 m (12.87 m2)

Hallway: 5.4 x 0.9 m (4.86 m2)

Bathroom: 3.28 x 2.3 m (7.54 m2)

Open Space : 0.72 x 7.04 m (5.07 m2)

Open Space : 0.93 x 5.1 m (4.74 m2)

Gallery















Jean Claude Portelli Coleiro RE/MAX Superior - Fgura

M: 77585833

E: jeanclaude@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta